Investigation: Families of Linear Equations

 Using A Graphing Calculator

Turn on your graphing calculator. 

1.  Before we start, clear the memory from the calculator.   Press  2nd   MEM   +   . Then go down and press   7: Reset. Click 2: restore defaults, then  2 : reset.  

2.    Now go to the top of the calculator just under the screen. Click the blue button all the way on the left that says   Y =  
3.  On the first line, input Y₁ =   2 (x )  +  1 . The “X” button is just to the right of the GREEN ALPHA button.  

4.  Hit the blue GRAPH button all the way to the right. You should see the graph of the line come up on the screen. 

5.  Copy this graph onto your paper. 
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5. Now let’s look for the table of values.   Press 2nd   then  GRAPH.   You should see a table of values for that equation. Copy this table above. 
6. Now on the same screen with the table, scroll to find  where x = -25. What is the y – value at x =  - 25 ? ___________
7.  Now go back to the equations list.  Press the blue  Y =   button again on the top left. Now for the second equation input   Y₂ =  2 x  +  6 . Press GRAPH.     

8.  Now press the blue ZOOM  button. Scroll down to the last option 0 : ZoomFit. Hit ENTER. Sketch this new graph onto your grid above. 

9. How are the two equations you graphed similar? How are they different? What effect does changing the equation have on the graph?  

10. Now go back to the input screen by pressing y =   .   Clear the two equations you already entered. 

11. Graph each set of lines separately. All of the lines in the set should be graphed on the same set of axes, in the same window, so that you can compare the graphs of the equations. After each set of equations you graph, answer the question that follows at the bottom. 
	Set 1
	Set 2
	Set 3
	Set 4
	Set 5

	Y = x

Y = ½  x

Y = 5 x

Y = 7 x
	Y = x

Y = x + 5

Y = x – 3
	Y = 3 x

Y =  -  3 x
	Y =  - 2 x 

Y = - 2 x +  3

Y = - 2 x +  5
	Y = 2
Y = 5

	How does the graph change when the number before x gets big? How does it change when it gets small?


	How does the graph change when you add or subtract a number in the equation?
	What happens when the number before x (the coefficient) is negative?
	If equations have the same coefficient, how will it affect the way their graphs look?
	What does the graph look like when there’s no “x “ or input ?








